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Q.1 (A) 05

1. Find current flowing in a dielectric material due to a charge of 60 C after 12 s.
2. The dependent source in fig. is
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4. In the circuit of figure, find the voltage drop across 2 Q just before t = 0.
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5. Obtain time constant for an series R-C circuit with R =2 Q and C =10 pF.
(B) Calculate power delivered by 3 A i, the below circuit using nodal analysis. 05
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Q.2 Attempt any four(Short Questions)
(1) Evaluate voltage drop across 6 € resistor in the below circuit.

61 By
AN @'—1
P
i
12V ‘% 410
“ffjiii'"
(2) Using tI;e superposition theorem, find Vy in the circuit in figure.
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(3) Find thevenin’s equivalent circuits for given network faced by the 3 kQ

resistor.
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(4) Determine the current ‘I’ in the circuit of figure by performing source

transformations
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(5) Employ Norton’s theorem to obtain a simple two-component equivalent of

the circuit shown in figure.
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Q3 Attempt any two 08
(1) The switch in the circuit in figure has been closed for a long time, and it is ‘
opened at t = 0. Find v(t) for t= 0.
t=0
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(2) Verify Tellegen’s theorem in below circuit.
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(3) With reference to the circuit of figure calculates the power absorbed by the 9 Q
resistor.
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Q.4  (A) The switch in figure has been closed for a long time. It opens at t = 0. Find i(t) 05
for t>0.
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(B) Derive the condition for maximum power transfer from source to load in given 05
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(B) For the circuit in figure, find 05
(a) i(0") and v(0")
(b) i(0) and v(eo)
di(o™) dv(ot)
(c) g7 and e
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